Suyangix 2 fr/KES B m B3R /Plastic Vent Plug

(BRG] SERT. TRNM. AR, PANER., RIKE. PR, LEDNARS), BEE. EEaTn
B, HHE. ETEME,

ARROMIRIAREE, FIEEE (TREEPERITEHCE) .

RITRYHE

+ F{xH18: PC/PP
g Bl A B B/E/R (RIS
BEER: K. . B
BESE: A=500ml/min; AP=7kpa
TYERE: -40°C~125°C
BEIPELR: IP65-1P68

1120 9,90%0.30 FRME: PC/PP

5.00%0,20 BmE: B/8/K (B5bES)
BERE: K. B, B
BESE: A=500ml/min; AP=7kpa
THEBE: -40°C~125°C
BiiP&4%: IP65-1P68

. ERME: PC/PP
L O e BB BJE/R (EEHCER)
- BERE: B, BL. B
3 BESE: A2400ml/min; AP=7kpa
© TIERE: -40°C~125°C
FriF SR IP65-1P68

1474 10,93£0.3 FxH8: PC/PP

Bi: B/8/KR (SHLEH)
BSE: K. B, BhH
BESE: A=800ml/min; AP=7kpa
TERE: -40°C~125°C
BFiPL4R: IP65-1P68

14,60 15.20£0,30 F{xH18: PC/PP

10.00£0.20 Bite: B/E/KR (BHLESH)
BSE: K. B, BEH
BESE: A=1000ml/min; AP=7kpa
TR -40°C~125°C

FiPEL: IP65-1P68

12.5040,30 FKH%: PA/PC/PP

— lesoro.0 Be: Z/a/K (E5LES)
BESE: K. B, Bl
ESE: A21200ml/min; AP=7kpa
TERE: -40°C~125°C
BIPZ4: IP65-1P68

FiK#1%: PA/PC/PP

Bit: B/E/KR (BHLESH)
BSE: K. B, BEH
BESE: A=1200ml/min; AP=7kpa
TEBE: -40°C~125°C

BHIPER: IP65-1P68

FiKH%: PA/PC/PP

B B/8/KR (BHLESH)
BERE: K. B, B
BESE: A=1500ml/min; AP=7kpa
TERE: -40°C~125°C

P& IP65-1P68

FiK4%: PA/PC/PP

Bie: B/8/KR (BHLESH)
BERE: K. B, B
BESE: A21500ml/min; AP=7kpa
T/ERE: -40°C~125°C

P& IP65-1P68

FRMEL: PC/PP

B B/8/R& (BHkEH)
BESEE: K. B, BEH
BESE: A=2200ml/min; AP=7kpa
T/ERE: -40°C~125°C

BHiPER: IP65-1P68

10.00+0.15

MO6X0.75 , 9

MO06X1.0 G

M08X1.25 Ga &

M10X1.0 uﬁ '

10.00£0.20
ME*0,75

10.00£0.2
‘ =

14,0288

25

' 14.00

M8x1,

17.00

16.00£0.20

M10%1.0

17.00

M10X1.5

16.00£0.20

17.00

M12X1.0

@

16.00£0.20

17.00

M12X1.5

16.00£0.20

24.40

22.00£0.20
|\_—\ —‘
| — —|

M16X1.5

22.00+0.20.

RItRYE

F{xH8: PC/PP

g B/B/R (EHLES)
BSEE: K. L. B5H
BESE: A24500ml/min; AP=7kpa
TEBE: -40°C~125°C

BEIPELR: IP65-1P68

M20X1.5

23.80%0,3
15

360002

00£0.2

—

FiKH%: PA/PC/PP

Bie: B/8/KR (SFLESH)
BERE: K. B, B
BESE: A26000ml/min; AP=7kpa
TERE: -40°C~125°C

PiPER: 1P67

M24X1.5

36.00£0.2

F{x#8: PC/PP

Bit: B/8/KR (BHLESH)
BSEE: K. L. BEH
BESE: A=7000ml/min; AP=7kpa
TYERE: -40°C~125°C

BHiPER: IP65-IP68

M32X1.5

360,00£0.2_

NY
800¢09

FRHE: PA/PC/PP

B B/8/R& (BHkES)
BESE: K. B, BIH
BESE: A=6000ml/min; AP=7kpa
TERE: -40°C~125°C

PSR 1P67

M40X1.5

$60.0040.2

NY.
&001”08

22.00x0.3

FiK#%: PA/PC/PP

Bi: B/8/KR (BHLESH)
BESEE: K. B, BEH
BESE: A=7000ml/min; AP=7kpa
TEBE: -40°C~125°C

FriPELg: IP67

NPT1/4

17.15£01

M

FiK4%: PA/PC/PP

Bie: B/E/KR (SFLESH)
BERE: K. B, B
BESE: A=500ml/min; AP=7kpa
TERE: -40°C~125°C
BFiFL4R: IP65-1P68

K05
0=

F{R#%: PBT/PC

Bt B/&R (BHILES)

BEE: K. BL. M
BESE: A=1800ml/min; AP=7kpa
T/ERE: -40°C~125°C

BHiPER: IP65-IP68

PV14
=

FR88L: PBT/PC

B B/&R (BHMLE)

BERE: K. B, B
ESE: A>1800ml/min; AP=7kpa
T/ERE: -40°C~125°C

BFiPL4R: IP65-1P68

CSK0-B008
BESE

12,30

FRMR: TPE

Bt B/ (ZHEH)
BSRE: K. B, B
ESE: A>1200ml/min; AP=7kpa
TEBE: -40°C~125°C

BIPER: IP67

CSK0-B0O15
BSIE

12.90

FRME: TPE

B B (SHLES)

BSRE: K. B, B
ESE: A>1000ml/min; AP=7kpa
TERE: -40°C~125°C

BIPER: IP67




Suyang® & h/KES IR mE%/Matal Vent Plug

LERSE] SEDF. TRNM. LA, PINER. RS, PGS, LEDARS, B0, EEETE
. HNEE. BIEHE,

FRMIRIAMREE, HIHEXE (TREEPERITEMCE) .

’ITRIEO®
25 5,5040,30 247HIAE . M03X0.5
Dz, 4-1 [ 13005020 EHMR: BES/TER/H
o 9 BEE: Bk, BL. B
& FESE: A235ml/min; AP=7kpa
=

THERE: -40°C~125°C
o BSIPES4R: 1P65-1P68

2L M04X0.7

FiRME: BEER/AEWN/HRE
BESE: K. L. B
BESE: A=100ml/min; AP=7kpa
T/ERE: -40°C~125°C
P& IP65-1P68

I2LMAE . MO5X0.8

TR BER/AEN/HE
BSE: BK. BB, B
BESE: A2180ml/min; AP=7kpa
TEBRE: -40°C~125°C
BriPE4R: IP65-1P68

15.50+0.2 BREHIAE . M06X1.0

e.00x02  EERMRL: BES/AEN/R
BEE: K. BL. BBl
ESE: A2400ml/min; AP=7kpa
T{ERE: -40°C~125°C
FHiPEER: IP65-1P68

8.00+0.20

ool

16.00£0,30 BREIHIAE . M0O8X1.0

7.00£0.20 FiRME: BEER/AEN/HRE
BESE: K. L. Bl
BESE: A2400ml/min; AP=7kpa

» S .
O :
m TERE: -40°C~125°C
BiP&4R: IP65-1P68

240 M08X1.25

2002020 Hepbppl: BAR/ RGN/
ESRE: BiK. L. BH
ESE: A2400ml/min; AP=7kpa
TERE: -40°C~125°C
FriPEL: IP65-1P68

o
w
=
W =3
oL N o
i c
‘ MOBX10 3 2 B ‘
I ©
] ;
B
ﬂ:; . ﬂ -
J !
10,000, 0040,
&
(@]
E%
MOBX110

12.00
MO8%1.0

16.00+0.30

12.00

BIHRYE

2950y I0eheg FEME: BES/AHEN/HE

i BSRE: K. . B
BESE: A22200ml/min; AP=7kpa
TEBE: -40°C~125°C
BEIPELR: IP65-1P68

M20X1.5

23.00£0.20

FEME: BES/AHEN/HE
BSRE: BK. B, B
ESE: A>2150ml/min; AP=7kpa
TEBE: -40°C~125°C

BFiP%4: IP65-1P68

NPT1/4

= Lol il IR BAS/AAR/E

J} B K. B, B
NPT1/8 E g
=

BESE: A=700ml/min; AP=7kpa
T/ERE: -40°C~125°C
BHiPER: IP65-IP68

. 12,00£0.20

SuyangPBp &R & B 5 /Explosion-proof valve

LERSHL] FAMNRETEREHE. PABTIRE. ARMERE. SEDBPACK, RS, BASHE. HEEES
. BTREIREIRN.

ARRBIBE N RRE, HIHERE (TRBESPERETEHLES) .

@M mE RITRYHE F@REH

EV12

‘ PHRBEES: 8~13kpa
! TIERE: -40°C~125°C
TP&R: IP67/1P68

18.00 18.5+0.2 T
M|

10£0.2 BEE: K. B, . S
;“ 2 ESE: A=500ml/min; AP=7kpa
)

16102

I2LMAL : M10X1.0

FEME: BER/AEN/HE
B K. BBEL. B
BSE: A=600ml/min; AP=7kpa
TEBRE: -40°C~125°C
BiiP&4: IP65-1P68

14,00£0.20

2L M10X1.5

i g 10.00£0.20 FiRH: BEE/AEW/HE
T n o BSEE: BK. L. Bl
= X T BESE: A21200ml/min; AP=7kpa
= = - TESRE: -40°C~125°C
PSR  IP65-1P68
17.20 19,0040,30 RIS . M12X1.5
. FEMH: BES/AEW/HE
(] o o N
- g 8172 N\ | B Bk R, B
S gl ) ‘\“] BESE: A21800ml/min; AP=7kpa
= = 8\~ & \ i | TERE: -40°C~125°C

BH3PEL: 1IP65-1P68

IRLHIAE: M16X1.5

FiEbE: BER/AEN/HE
BREE: K. e, Bl

ESE: A=3800ml/min; AP=7kpa
TERE: -40°C~125°C

BriPEL: 1P65-1P68

18.00+0.20
.20.00%0.20

(

R BAS/AEN/HE
BEEE: K. e, B, g
BESE: A=6000ml/min; AP=7kpa
PEEMEES: 8~13kpa
TERE: -40°C~125°C

BhiPELR: IP67

EV20

MR BES/ABN/HE
BESE: Bk, B, . BE
BESE: A=6000ml/min; AP=7kpa
PrigEEES: 8~13kpa
TERE: -40°C~125°C

BAIPEL: IP67

EV24

30.00+0.2

55.00 3300402 AR BES/AEN/HE
e BEEE: K. . B, g

ESE: A=6000ml/min; AP=7kpa

PrigEEES: 8~13kpa

TERE: -40°C~125°C

BrirEgk: 1P67

EV40

M40%1,5

275 FRMH: BES/AEBW/RE
125 W BK. B B, PR
- BESE: A=6000ml/min; AP=7kpa
i FREIMEES: 8~13kpa
© TERE: -40°C~125°C

PP ER: 1P67

EV50




SuyangRi7KiES E ™ @B R/ Waterproof Vent Plug

LERSHE] KEOESBNESEF S, SRECRAES. MRERBUES. TUHSH. RERESHALES
EE/AE. ARAESS,

FRMIRINEE, HIEEE (TREEPERETEILES) |

FRME: TPE

BSE: K. L. B5H
BESE: A=100ml/min; AP=7kpa
THERE: -20°C~85°C

PP ER: IP67

D06

7.10%0.15 FRAR: TPE

— : BERE: K. Ba. B

D10 $9.80£0.15 ESE: A2100ml/min; AP=7kpa
THERE: -40°C~120°C

L PiPER: IP67

FEME: PCHER

BSE: K. B, BH
BESE: A=200ml/min; AP=7kpa
TERE: -40°C~120°C
PiPER: IP67

D13

FAH8: PP/TPE

BEE: K. L. By
ESE: A2500ml/min; AP=7kpa
TERE: -40°C~120°C

PP ER: IP67

D15

14.75 ERiH: PP

‘ BSRE: K. B, B
ESE: A=500ml/min; AP=7kpa
T/EBE: -40°C~120°C
PiPER: IP67

D17 i . % ?17.20

\ |
 E— T}
312.30£0.08[c0

FRMRL: PP

BESRE: Bk, BL. B
BESE: A=3800ml/min; AP=7kpa
TERE: -40°C~120°C

BIPER: IP67

~
0£0.1 o
=

D25

-
?13.00%

Suyangfa/KiES B /7 &a B 3 /Aluminum Foil Waterproof And Breathable Gasket
[[ERME] HZ2EERBNESET"m, RECKRAZM. BRERABALER. TUEEH . RARECERCER
BEE/EE. BnEEES,

BREIRIAREE, HEEXE (TRESPERHTEHLES) .

’ITRYE
o F4RMPEL: PE+ePTFE
gL s aHA BEE: K. BL. BR. BHH
PEEFEEE% SJ’J;}\MMNE ESE8: 500-3000ml/min/cm?; AP=7kpa
=+ .
BIRESER . BHAR: GHEN
PERM FriP&4R: IP67-1P68
J. A Z

FRH%: PERE+ePTFE
BSE: K. Bk, BR. HH

96
NEEN
7—“

\PE:ZQ;@ iz i s ESE: 500-3000ml/min/cm?; AP=7kpa
ERA 70 BHRAR: HEZH
o/ il BIPZR: 1P67-1P68

WItRSE
o M PET+ePTFE
PET%E% ltﬁ'—:\.ﬂeﬁ BaZK. BEL. :‘@'_E\n [‘5/293
BB =l L Pe—— BESE: 500-3000ml/min/cm?; AP=7kpa
h | © e BHAT: DHBMN
o i otk WP IP67-1P68

Suyangh/KiES /3B &/ Waterproof Breathable Sound Membrane
(ERSM] EHaTas (EEEE. SEFN. BRE. QTR WU MHHS)  IERT. KRAME.
PSNER. RIS, PSMBI. LEDTARS). WITRE, HNRE. TIBWE,

AARNBIEAREE, HIEEHE (TRESPERETEILES) .

A

FEMEL: ePTFE+3MAR
{ BREE: K. R, . B85
- ~— 2 BSE: A=2000ml/min; AP=7kpa
EFIRS 4 IE{TE;}E: -40°c~125°|c
BEiPE4: IP65-1P68
Hetbitkge: FAKRULIA-VO/HEKSM L /H1Eh3E /ROHS2.0
Ay == AS Y —
W ABEES? '
REAENR, BARTUASHFEAFAGAANRLERNN (Miaes. g2y Tm  @m -
RGBT , THSLENMR, AREBREES. NTRIEXLBESRYEESS, \ j t
BECINESREEXHBESHE. ‘) ; 1{)
MEREABENBESEN, RESBTHSMNE. WKEERE, YAREHEREENE C’ q 4
EBUE, HIRAMELE, REDHITELSECHR, MHNLsEPIREERR J 2
B, BRTHITHSRIMFE. PNEPXERSEIEIEM, ATIZIHLASREESA
F5iE ERCIRES IEAEIRTS BERS

N A7~ /Application display

D15PIkESE D17pIKESE D25pIKiESE

i
BhR

PESBSEPIKBES 2 SR PERBIESESA

PESMEREEESER



	页 1
	页 2
	页 3

